2x%* + 13x + 5 = 0:
¢16x° — 5 < 0:
(X =3)(x+7)<0;
X(X +35)>0.







\_/ X € (-0;-2]U[3;)

§y7 X € [-4:1] _'
J’UL’ X € (<1-4)U(0;) S




1. (BX + 7)(X — 2)< 2x% —
- 11x —13;

2. -X%— 1/3x — 1/36 <0




1.X e (-o; V) U (Va; + );

2. X e (-0:-1/6) U (1/6; + =);




ey = V12X — 3X°;

vy = 1

V2x2 — 12x + 18




1.D(y) =[0; 4]

2. D(y) = (- »; 3) U (3; + »);




1.Po3sBasaTu 1.Po3Basatu
HEpPIBHICTb: HEPIBHICTb:

a) 3x? +11x -4 < 0; a) 5x? +3x — 2 > 0;

) 2x% >Xx — 4; 6) x? < 2x — 5;

2.3HanTn obnacTtb 2.3HanTn obnacTtb
BU3HAYEHHS BM3HAYEHHS 7 S
PYHKLLT: DYHKLLT: i =

=2 +1lx—6  y=y-2-Tx+15




